Senmester 1 Exan Review-Part 5
Fraction Operations ¢“X“ on d/ rea| .F

1) Jonah practlces cello for 2— hours each week. If he practices fora total of 35 hours; wﬁt‘@an
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3) IBMS is building a sidewalk. The workers use 3 hag of cement one sadewa! S
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4) Taylor painted > of the fence and Stephanie painted 3 ofthe fence, =

-

I,f +o\

11) Kendall talked ém‘the phone for % hour on Saturday, 2% hour on Sunday and % hour on

Monday. How much longer did she talk on Sunday than on'Monday?
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12) Jameeka works at a grocery store, She has 8- pounds of beans that she is putt ngw %
bag holds - pound of beans, how many bags of bea 9wlll“‘h”‘“b able to-make? g ; _,,;,m
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16) A batch of brownies requ;res 12 cups of sugar. Horv many batches\ pJessi make with 732 > cups of sugar?
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Semester 1 Exam Review-Pars 6

!ntegers
1) Whﬁ;;xpression doesT give the same resulf as - 5 X - 4? (5; < “f )
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2) Suppose the temperature was 76°F at 7:00 A.M. [f the temperature mcreases 2% each hour what.will. the

temperature be 5 hours later? -
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3) Maris had -100 points in Jeopardyg%ot a 500 %ﬂ guestion correc@h@w score?

4) Solve the expression represented by the model 5) Which expression is represented for the mode!
helow. below? /
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6} Mrs. Van lost money on an investiment at ajte of 54 per- daywH w much did she lose after two

weeks? | l,¥

7) Use the model below to select the problem situation that fits with-t model.
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&7 Steven has seven toy cars and five of them broke. (”” c’“))
B’ Lauren has five roses and Simon gave her seven more LF;, o ] g oy
“C.Lhris has five dollars and he had to borrow seven dolfars from his mom. LP) e |
Qumton is twelve years old and her younger brother is seven years younger than her. ‘ ;})m o ( ‘;‘)
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at 4 feet above the water. What is th@ &
“Betyeen the fish and the bird? (A ) L}' 11) (-48).+(-6) 12) o
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